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SPULEN WIDERSTANDE KONDENSATOREN
WERT WERT VALEUR
Z1 R 1 1800 Chm € 47 uF
§ 1 34 Oh R M C 2 47 pF
(245 V) R 3 68 Chm C 3 11—490 pf
$ 2 200 Ohm R & 10000 Ohm C 4 11—499 pF
C s 11.-490 pF
53 < 1 Ohm R 7 150 Ohm C & 10000 pF
S 4 < 1 Ohm R 8 0,1 M. Ohm. C 3 20 pF
$s 3.5 Ohm R 9 220 Ohm C 9 20 pfF
S & < i Ohm R10 39000 Ohm E:? 133 PE
S 7 7 Chm R1Y 20000 Ohm C1a 10000 LF
538 < 1 Chm Ri1a 0.1 M. Ohm C1s 20 pfF
S g 29 Ohm R16 | 015 M.Ohm g }‘; gg P}j
$10 4 Ohm R17 0,275 M, Ohm Ci9 10000 :F
Sa0 100 Ohm R17a | 0,075 M. Ohm C 20 56000 pF
S 41 25 Ohm R18 2,2 M. Ohm Cn 56 pF
512 1 Ok R19 | 47 M. Oh G2 100 pF
< m 7 M. Ohm C 23 220 pF
513 < 1 Ohm R20 1.5 M. Ohm C 24
514 < 1 Cha R21 0,1. M, Ohm €25 20 pF
C 25 20 pF
515 3 Ohm R22 1000 Chm C a7 5400 oF
516 <1 Ohm R23 0.5 M. Obm C 28 - 1600 pF
542 <280 Ohm R24 180 Ohm C29 400 oF
543 50 Chm R27 | 27000 Ohm &30 125 oE
ST? <1 Ohm R23 560 Ohm C 3z 97 ::F
$18 < 1 Ohm | R29° 15000 Chm C 33 47000 pF
519 i Ohm R31 | 082 M Obm < 56000 »f
52 2 Ohm R33 1000 Ohm Ca9 100 p;
522 6.5 Ohm R3s 0.1 M. Ohm C a0 25 p
. S44 5 Ohm R37 | ° 22 M. Ohm E :; .ﬁggg :E
S45 18 Obm R38 1.5 M. Ohm C a4 2200 oF
$23 9 Ohm R 40 1.5 M. Ohm C as 22000 pfF
- C 47 o1 pF
$24 9 Obm R43 5600 Ohm C a8 018 hF
. 932 < 1 Obm R 44 22 M. Ohm C 39 100 pF
535 | < 1 Ohm R45 0,39 M. Obm gsu 14 p?
‘ } _ 51" 50
C31 94 oF N R4b 2200 Chm ¢ in 580 oF
€32 97 pF - C 53 0.33 uF
$25 3 Ohm - 554 10000 p;
= . 54 569
526 Ohen . C 57 47000 oF
§31 & Ohm C o 20 pf
Caz 103 pF g:g gg p;
C38 113 pf C ba 200 :F
528 340 Ohm C 65 56 pF -
529 < 1 Ohm gzg 18.3 p;
p
$34 9 Ohm C 69 39 of
533 4 Chm C 70 47000 oF
cn 22000 pF
c72 25 ufF




